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STD-III PA4 — Maths (20 Marks)
I. Choose the correct option: (2X1=2)
1.7.25= paise

a) 725 b) 25 c) 257 d) 72500

2. How many 50 paise make I 5?

a) 5 b) 7 c)10 d) 8

II. Fill in the blanks: (3X1=3)

1. 1 Rupee = paise

2. Five 20p coins make rupee.

3. The number to the right of the dot shows the

III. Match: (3X1=3)
1.%20 4330 435 - 100p

2. 50p + 50p -320.05

3. 2005 paise -355

IV. Answer the following: (2X2=4)

1. Add the following amount : ¥54.25 and ¥32.45
2. Subtract the following amount Rs. 19.50
Rs. 8.50 (+)

V. Word Problem; (2X4=8)
1. Two friends wanted to buy a cricket bat and ball. Raju had
¥55.50, Venu had ¥12.50. How much money did they have in all?
2. Hari spent I47.25 at the book fair. Ram spent ¥30.15 more than
Rohan. How much did Ram spend?



